	Revelry Event Designers		IN-0004780			
K	3604 Medford St. Los Angeles, CA 90063 (323) 263-1657			Fancy That! Events		
1/26/202301:00 PM Deliver ChandelierPO:1/27/202310:00 AM InstallShipping Address:1/28/202310:00 AM Remove plastic andBeverly Hill Hotel			Invoice Date: Due Date: Upon Receipt			
ouchups) 1/28/2023 09:3	30 PM Strike Monaco Table 00 AM Strike All Items	Beverly Hill Hotel		Salesperson: Milana Ayvazova		yvazova
Description			Qtty	Price		Total
Additions						
	Custom: Table Cloths - 81" thick white linen, *hotel to provide table and under		2	\$450.00	Т	\$900.00
				Total Additi	ons	\$900.00
Ceremony						
	Dining Chairs - Aspen - Wh leave plastic on each each on frio		250	\$27.00	Т	\$6,750.00
				Total Cerem	ony	\$6,750.00
Cocktail Hour						
	Wood Wall Panels: 4'W x 7 painted high gloss black, place in niche, *client to provide photos / frames		2	\$400.00	Т	\$800.00
	Bar Cover - Beverly Hills H Covers painted black	lotel Existing Bar Custom	1	\$750.00	Т	\$750.00
	Bars - Monaco - Straight B painted white, with custom decal	-	1	\$1,100.00	т	\$1,100.00
	Barback - Athens - White &	Gold W/ Wood Shelves	1	\$200.00	Т	\$200.00
	Dining Table - Monaco - Br wood top wrapped with linen fab		1	\$1,100.00	Т	\$1,100.00
	Custom: Table CLoths - 40 for center cake table	" x 40"H	1	\$250.00	Т	\$250.00
	Stock: Table Cloths - 36" x thick white linen, *hotel to provide table and under		5	\$80.00	Т	\$400.00
	Custom: Table CLoths - 36 thick white linen,	" x 30"H	5	\$220.00	Т	\$1,100.00

	Qtty	Price		Total
Dining Chairs - Frankfurt - Channeled Boucle Round - Black	20	\$27.00	Т	\$540.00
Sofas - Madrid - Round - Off White Boucle	2	\$350.00	Т	\$700.00
Coffee Tables - St. Tropez - Faux Marble Irregular Large	2	\$250.00	Т	\$500.00
Accent Table - Ibiza - Irregular Faux White Marble	4	\$100.00	Т	\$400.00
Accent Table - St. Tropez - Twisted White Faux Marble	2	\$120.00	Т	\$240.00
Club & Lounge Chairs - Rome - Off White Boucle Channeled	4	\$275.00	Т	\$1,100.00
Club & Lounge Chairs - Beirut - Ivory Velvet	6	\$220.00	Т	\$1,320.00
Ottomans - Beirut - Ivory Velvet	4	\$90.00	Т	\$360.00
Accent Pillows black velvet, black and white with piping,	20	\$30.00	т	\$600.00
		Total Cocktail Hour		\$11,460.00
Chandelier - Vienna - Amber 48" DELIVER THURSDAY	4	\$1,050.00	Т	\$4,200.00
Chandelier - Vienna - Amber 44" DELIVER THURSDAY	4	\$850.00	Т	\$3,400.00
Off White Rouching	12	\$0.00	Т	\$0.00
Roll Of Lycra - Off White	1	\$0.00	Т	\$0.00
Chandelier - Moscow - Rectangular Large hung on truss arches, 6- for stage,	18	\$550.00	Т	\$9,900.00
	Black Sofas - Madrid - Round - Off White Boucle Coffee Tables - St. Tropez - Faux Marble Irregular Large Accent Table - Ibiza - Irregular Faux White Marble Accent Table - St. Tropez - Twisted White Faux Marble Club & Lounge Chairs - Rome - Off White Boucle Club & Lounge Chairs - Rome - Off White Boucle Club & Lounge Chairs - Beirut - Ivory Velvet Ottomans - Beirut - Ivory Velvet Lounge Chairs - Beirut - Ivory Velvet Chandelier - Vienna - Amber 48" DELIVER THURSDAY Off White Rouching Roll Of Lycra - Off White Chandelier - Moscow - Rectangular Large hung on truss arches,	Dining Chairs - Frankfurt - Channeled Boucle Round - Black20Sofas - Madrid - Round - Off White Boucle2Coffee Tables - St. Tropez - Faux Marble Irregular Large2Accent Table - Ibiza - Irregular Faux White Marble4Accent Table - St. Tropez - Twisted White Faux Marble2Club & Lounge Chairs - Rome - Off White Boucle4Club & Lounge Chairs - Rome - Off White Boucle4Club & Lounge Chairs - Beirut - Ivory Velvet6Ottomans - Beirut - Ivory Velvet4Accent Pillows black velvet, black and white with piping,20Chandelier - Vienna - Amber 48" DELIVER THURSDAY4Off White Rouching12Roll Of Lycra - Off White1Chandelier - Moscow - Rectangular Large hung on truss arches,18	Dining Chairs - Frankfurt - Channeled Boucle Round - Black20\$27.00Sofas - Madrid - Round - Off White Boucle2\$350.00Coffee Tables - St. Tropez - Faux Marble Irregular Large2\$250.00Accent Table - Ibiza - Irregular Faux White Marble4\$100.00Accent Table - St. Tropez - Twisted White Faux Marble2\$120.00Club & Lounge Chairs - Rome - Off White Boucle4\$275.00Club & Lounge Chairs - Rome - Off White Boucle4\$220.00Club & Lounge Chairs - Beirut - Ivory Velvet6\$220.00Ottomans - Beirut - Ivory Velvet4\$90.00Accent Pillows black velvet, black and white with piping.20\$30.00Chandelier - Vienna - Amber 48* DELIVER THURSDAY4\$1,050.00Off White Rouching12\$0.00Roll Of Lycra - Off White1\$0.00Chandelier - Moscow - Rectangular Large hung on trues arches.18\$550.00	Dining Chairs - Frankfurt - Channeled Boucle Round - Black20\$27.00TSofas - Madrid - Round - Off White Boucle2\$350.00TCoffee Tables - St. Tropez - Faux Marble Irregular Large2\$250.00TAccent Table - Ibiza - Irregular Faux White Marble4\$100.00TAccent Table - St. Tropez - Twisted White Faux Marble2\$120.00TClub & Lounge Chairs - Rome - Off White Boucle4\$275.00TClub & Lounge Chairs - Rome - Off White Boucle4\$220.00TClub & Lounge Chairs - Beirut - Ivory Velvet6\$220.00TOttomans - Beirut - Ivory Velvet4\$90.00TAccent Pillows black velvet, black and white with piping.20\$30.00TChandelier - Vienna - Amber 48"4\$1,050.00TChandelier - Vienna - Amber 44"4\$850.00TDELIVER THURSDAY1\$0.00TOff White Rouching12\$0.00TRoll Of Lycra - Off White1\$0.00TChandelier - Vienna serbes,18\$550.00T

Description		Qtty	Price		Total
	Floor Lamp - Moscow - Large on stage	3	\$700.00	Т	\$2,100.00
	Dance Floor - 32' R white high gloss, gold border with decal border,	1	\$7,400.00	Т	\$7,400.00
	Custom Stage Pieces For 24'W x 20'D x 18"-24"H gold decal front - metallic bronze or gold	1	\$5,800.00	Т	\$5,800.00
	Custom Panels 4'W x 6'H painted off white high gloss, placed underneath balconies for photo display	4	\$700.00	Т	\$2,800.00
	Bars - Moscow - Gold Straight 6' frame painted black,	2	\$800.00	Т	\$1,600.00
	Custom Moscow Gold Straight 6' black frame,	3	\$2,400.00	Т	\$7,200.00
	Barback - Tokyo - Straight Basic 6' - Metal painted black, placed with single 6' Moscow bar	1	\$275.00	Т	\$275.00
\bigcirc	Dj Booths - Nice - Oval Light Up - Gold	1	\$450.00	Т	\$450.00
	Stock: Table Cloths - 72" x 30"H thick white linen, *hotel to provide table and underlay*	3	\$180.00	Т	\$540.00
	Custom: Table Cloths - 72" x 30"H thick white linen, *hotel to provide table and underlay*	7	\$400.00	Т	\$2,800.00
			Total Ballroom		\$48,465.00
Services					
	Delivery Chandeliers on Thursday	2	\$200.00		\$400.00
	Install Friday	10	\$450.00		\$4,500.00
	Touchups: Saturday	4	\$250.00		\$1,000.00
	Standbys: To Strike Monaco Table At 9:30 PM	2	\$200.00		\$400.00
	Strike: Sunday	10	\$400.00		\$4,000.00
	Truck + Gas Surcharge	4	\$480.00		\$1,920.00
	Misc: Supplies, materials, etc.	1	\$800.00		\$800.00
	Manager Fees: Meetings, Diagrams, Revisions, On site	1	\$500.00		\$500.00

Please make checks payable to Revelry, Inc.

Taxes :	\$6,419.63
Discounts:	(\$0.00)
Total:	\$87,514.63
Payments:	(\$87,514.62)
Balance:	\$0.01